WS ePlotpea

g

4050 Sheet 41

2 SLOTTED HOLES

190
R28
220 REF,

2 SLOTTED HOLES

SECTION /30  SECTION /5

SCALE INTS \:/

SCALE INTS \:/

SPLICE BOLTS

W BEAM RAIL

M16 MUSHROOM HEAD BOLT (FBO1) WITH
RECTANGULAR WASHER UNDER HEAD

SPLICE BOLTS

PLAN
[Z DIAPHRAGM PLATES SPLICE BOLT
E=Z7= — (FB03)
© EC— )
I ]
|
)
&y E3 3 1
BREAKAWAY STEEL POST
ELEVATION
BUFFERED END ASSEMBLY (FB03)
SCALE 1125
275 R. (BEFORE BENDING!
2/23 X 100
SLOTTED HO

BREAKAWAY POSTS

ANCHOR PLATE (BD15)

STRUT AND YOKE ASSEMBLY

PLAN
M16X50 HEX HEAD BOLT [FB07)
WITH M16 NUT (FNO1) AND

RAIL {BO16) a
RECTANGULAR WASHER (FW03) \

UNDER BOLT HEAD
R = (!
HY— \
SHELF ANGLE

o

- {
STRUT AND YOKE
ASSEMBLY

SO PLATE [FB08) WITH NUTS
(PPOS) L
[FNO4) AND 2
WASHERS (FW01)
ELEVATION

BUFFERED END & ANCHORAGE ASSEMBLY
SCALE: NTS

DIAPHRAGM {B018)

W BEAM RAIL [CFA[BOE)E ASSEMBLY
R 6000

12 0FF DETAIL

DETAIL /D

SCALE 1:NTS!

M20X160 HEX. BOLTS

(BO15)

SCALE TS\ -/

22¢ HOLE7
y

25
400

1500

[ |
[ I
| |
} 200x150x6 FABRICATED }
|| STEEL TUBE HOT DIP
| |
[ |
[ |
[ |

226 HoLEs —{s

GALVANISED T0 AS 150
DETAL AT
SCALE 10
SHELF ANGLE & BLOCKOUT ASSEMBLY _ - -
POSTS #2 TO #6
150 200
STEEL TUBE (PO11)
SCALE NTS
ANCHOR PLATE
ANCHOR PLATE | 400 o
[So; o 100

RAIL PROFILE IN
RELATION TQ ANCHOR
PLATE

END ELEVATION

23 x 29 SLOTTED HOLES
FOR SPLICE BOLTS.
L EACH SIDE

ELEVATION

W BEAM ANCHOR BRACKET (B015)

SCALE 15

110

150 % 50 x 5.0
GALV.DRAINHOLE 25 RAD  gTeg( TUBE
1712 BETWEEN CENTRES OR
SIMLAR APPROVED 18
38
= o ﬂr
Y I 4
| g —— i
\ 1740 |

A STRUT DETAILS
SCALE 110

M20x240 HEX. BOLTS (FB06)
WITH M20 NUT (FNOL) AND
2/ $20 WASHERS (FW01)

4

; \
L 150 x 50 x 5.0 RECTANGULAR

;
Lt

STEEL TUBE
A STRUT AND YOKE ASSEMBLY (P014)
SCALE 110
6
22x50
286 HOLE SLOTTED HOLE

is MAX
RAD. -
=
5 206

A YOKE DETAILS

SCALE 1:5

S50Z @D

NOTES

GENERAL

1. DIAPHRAGM FROM 3.0 BMT GRADE HA250 STEEL TO AS/NZS
1594, TREATED TO AS 1627 AND HOT DIP GALVANISED TO
AS/NZS 4680 AFTER FABRICATION

2. BUFFERED END SECTION FROM 2.7 BMT GRADE HA350 STEEL
TO AS/NZS 1594, TREATED TO AS 1627 AND HOT DIP
GALVANISED TO AS/NZS L4680 AFTER FABRICATION

3. SHELF ANGLE FROM 6mm BMT GRADE 250 TQ AS/NZS 1594
AND HOT DIP GALVANISED TO AS/NZS 4680 AFTER
FABRICATION,

& ANCHOR PLATE IS FROM 6.0 BMT PLATE GRADE HA250 STEEL
TO AS/NZS 1594 END PLATE IS FROM 12.0 BMT PLATE GRADE
HA250 STEEL TO AS/NZS 3678. WELDING IS TO AS/NZS 15541
FABRICATED PRODUCT TREATED T0 AS 1627 AND HOT DIP
GALVANISED TO AS/NZS 4680

5. TIGHTENING OF NUTS: NUT FNO5 TO CABLE ASSEMBLY TO BE
TIGHTENED SO THAT THERE IS NO SLACK IN THE CABLE. ALL
OTHER NUTS SHALL BE SNUG TIGHT TO AS 4100,

6. DISTANCE FROM THE UNDERSIDE OF THE STRUT TO THE
GROUND T0 BE AS SHOWN ON DETAILS 'E* AND ‘F' ON THIS
SHEET. EXCAVATE OR BUILD UP THE GROUND AROUND THE
TERMINAL TO ACHIEVE REQUIRED STRUT POSITION

7. DIMENSIONS ARE SUBJECT TO MANUFACTURER'S TOLERANCES
EXCEPT WHERE ALLOWABLE TOLERANCES ARE NOMINATED

STANDARD DRAWING
STEEL BEAM GUARDFENCE

TERMINAL COMPONENTS

LES 2450
@ 110} 2730
2 SLOTTED L 20
520 216 | 216 216 =
I——{/fHOLES 23X 29 o — SLOT 19 x 25—~
- 25 4 R b -—+ % e
ot b P - 6mm THICK =
é') é 53 7 S Tiooafoe ’?l’ T T T 2 STEEL PLATE— | wl®
24 R i H - &
30 440 4 SLOTTED
’4—»
T :[JSLLEOST;EDX 7A ‘ 990 HOLES 23 X 29 100y »{"‘)F
1508 HOLE
Vv DEVELOPMENT SHELF ANGLE (FP02)
0R (TYP\CAL] BUFFERED END SECTION (BO19) SCALE 15
g SCALE 1125
580
/209 HOCE | 215 | 150215
o | BREAKAWAY [
BEARING PLATE =l STEEL POST = BREAKAWAY ‘ ‘
(FPO1) R T STEEL POST Gan STEEL _~|
DIAPHRAGM PLATE (B018) o I PLATE L o
SCALE 15 . CABLE ASSEMBLY (FC01) . - 3
21 PN PN .
P2 Y/ N 5 e 2
6 RAD 2 = — | | 1 %
L —) R _J T y 2
2 = %"@’{H ‘ # H - 4P $22 HoLE—
T \d 23x29 SLOTTED HI—=—} — i i
M 23 x 100 HOLE (VERTICAL) by I . A Vi SOIL PLATE (PP06)
SLOTTED HOLE n o STRUTAND  STRUT o SCALE NTS
< Hp - - H VOKE AND YOKE - —i— 1 JHIS—M16X240 HEX. BOLTS (FBOS6)
SECTION SECTION > i it ‘L i Pl wiH Mao NUT (FNow) AND DESIGN ENOORSED
SCALE 15 SCALE 15 - i Ll 2/20 DIA. WASHERS (FWOY), A PYRZAKOWSKI RAHARISON  for
Rk NANAGER PROJCTS
DIAPHRAGM PLATE DETAILS
DETAIL DETAIL S::‘[GKNE:N” APPROVED
SCALE 15
STRUT & YOKE DETAILS CHANGED A |wrsres |40 [powinson  [powison  [zmsios SCALE 15 A LIRZARONSHT GH CHAPLN
IDENTIFIER ADDED B Jomns |0 [owison  fowcaen [u/sros Pyt e e
SupERSEDE NOTE A00ED A Jrssos i Jposison [owomenn [zmes A A SUPERSEDES DRG S-4050 SHEETS 29-35 i ez ConsTRUCTED
Approved for ENDORSED
vescapTIon [ o wote[Rep [ auhorsed | BERTRT | pure | AN |t
AMENDMENTS I 100 MILLIMETRES ON ORIGINAL DRAWING I ALL DIMENSIONS ARE IN MILLIMETRES UNLESS SHOWN DTHERWISE ’:Ii’[‘:gi';;al and Geotech. | Date:

STRUCTURAL and
GEOTECHNICAL
SECTION

Ny

I‘AHENDS seer b1 ‘DRG S - 4050



